Potencias de 10 (J)

Calcule los siguientes productos y cocientes.

9.3183 x 0.01

6.5484 +0.01

2.6322 % 0.01

7.7905+0.01

9.473+0.01

8.4436 +0.01

2.4939 x 0.01

1.5495 +0.01

5.9373 % 0.01

5.4815+0.01

6.5996 x 0.01

3.6352+0.01

8.7987+0.01

3.5449 x 0.01

5.6373 x 0.01

5.6418 - 0.01

9.8574 x 0.01

8.007+-0.01

2.7241 x 0.01

4.8846 +0.01
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Potencias de 10 (J) Respuestas

Calcule los siguientes productos y cocientes.

9.3183 x 0.01
0.093183
6.5484 +0.01
654.84
2.6322 % 0.01
0.026322
7.7905=+-0.01
779.05
9.473+0.01
947.3
8.4436 +0.01
844.36
2.4939 x 0.01
0.024939
1.5495+0.01
154.95
5.9373 x 0.01
0.059373
5.4815+0.01
548.15

6.5996 x 0.01
0.065996
3.6352+0.01
363.52
8.7987+0.01
879.87
3.5449 x 0.01
0.035449
5.6373 x 0.01
0.056373
5.6418 +0.01
564.18
9.8574 x 0.01
0.098574
8.007+-0.01
800.7
2.7241 x 0.01
0.027241
4.8846 +0.01
488.46
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